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PHYSICAL EDUCATION
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

The Olympic motto Citius, Altius, 6.  Test designed to measure the minimum
Fortius was coined by strength of the subject is
(A) Barron Pirre de Coubertin (A) Larzen-Methany test
(B) Juan Antonio Samaranch (B) Tuttle pulse ratio
(© LO.C. o (C) Wellington — Harward test
(D) Father Henry Didion (D) Kraus-Weber test
The Rempte objective of physical 7.  Cardio respiratory efficiency is best
education is
A Devel . i n measured through
t
(A) r;;fgo(r)lpmen oF 899 Hman (A) Indiana Motor fitness test
(B) Development of neuromuscular (B) Harward step test
coordination (C) John-Methany test
(C) Development of physical fitness (D) JCR test
(D) Development of sports skills
The most important function of a first 8.  Purpose of the test is measured through
aider for a casualty is (A) Reliabilit
(A) Taking the casualty to a doctor ) Re 1‘a '1 v
(B) Treating the casualty (B) Val.ldlt_y .
(C) Saving life using the means (C)  Objectivity
available (D) Split half method
(D) Arranging transportation to carry
the casualty to hospital 9. The muscle fibre taking approx. 110
micro seconds to reach peak tension
Name of the communicable disease when stimulated is :
known as Hansen’s disease is (A) FT, (B) FT,
A) Lepros B) AIDS
(A) Leprosy (B) ©) FT (D) ST
(C) HIV (D) Small pox ¢
10. The qualitative and quantitative
Professional preparation of physical %nterfg‘ce dbetzvee.n structure and motion
education teachers is governed by : Is studied under :
(A) U.G.C. (A) Kinesiology
(B) A.LC.T.E. (B) Bio-mechanics
(C) N.C.TE. (C) Kinethropometry
(D) N.AAC (D) Both (A) and (B)
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11.

12.

13.

14.

a (alpha) probability indicates :
(A) Variability

(B) Level of significance

(C) Magnitude of type-II error
(D) Standard error

Etymological meaning of Kinesiology
1S :

(A) Kinesiology is science of motion.

(B) Kinesiology is the science of
motion of living being.

(C) Kinesiology is the science of
motion of human being.

(D) Kinesiology is the science of

motion of human being during
sports participation.

In aerial motion a discuss may have

three orientations vertical, horizontal

and inclined. Among them vertical

orientation involves :

(A) Maximum ‘Lift’ and Minimum
‘Drag’

(B) Minimum °‘Lift’ and Maximum
‘Drag’

(C) Only ‘Lift’ but no ‘Drag’

(D) Only ‘Drag’ but no ‘Lift’.

Kinesiology and sports Biomechanics
are related with one another in the
following manner :

(A) Kinesiology is a specialized area
of sports Biomechanics.

(B) Sports Biomechanics is a
specialized area of kinesiology.

(C) Kinesiology and sports
Biomechanics are completely
different.

(D) Kinesiology and sports

Biomechanics are same.

Paper-I111

15.

16.

17.

18.

There are different methods to measure
reliability among them split-half
method measures :

(A) External Consistency
(B) Internal Consistency
(C) External and internal consistency

(D) Neither internal nor
consistency

external

Statistical test of the significance of
discrepancy between the observed and
expected results is provided by :

(A) ANOVA

(B) ANCOVA

(C) MANCOVA
(D) Chi Square test

Observation is a method of collecting
data of primary source. An important
characteristics of this method is :

(A) Observation is not bias.

(B) Interpretation of observed data
does not vary from person to
person.

(C) Individuals observed may change
their behaviour.

(D) Possibility of incomplete
observation is not there.

In a research
matters include :

report, preliminary

(A) Title page, Acknowledgement,

Appendixes
(B) References, Title page,
Acknowledgement

(C) Title page, Acknowledgement,
Table of contents

(D) Table of contents, References,
Title page

J-47-13
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12.

13.

14.

o G 9 i €
(A) ORE=Rierd

(B) #HewI &1 &

(C) <RU-I Ffe 1 g
(D) " T

HIEHTTETAST T TeT 37 &

(A) FrEFMIST T T € |

(B) eI Siifad o w1 T
o= & |

(C) MRS BT = i fo = & |

(D) wEFMEAAST el § 9UERT %
IR TS T G foRE E

gare T | di it & Fehd & —

TR, I R FPHE | TH F

FeateR AMfaaTE | i | A & 2

(A) AT T AH el TS 3R HH
¥ $7 gHer

(B) &9 & HH ‘IAT 3IuEH G 3Ny
‘Tt

(C) et ‘ST SR ‘=T & |

(D) A “TEEAT R TS T |

Tl 3R T SEseg Uh

T T =l w7 9 getd €

(A) e @e sSEdesqed &
fafree am & |

(B) T ST {HAradierst
fafree am & |

(C) frafaareist 3T Tl aramshed
T TE T & |

(D) formfeaiersit 3T @l Siaeh e
THET |

J-47-13

15.

16.

17.

18.
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19.

20.

21.

22.

Maximum heart rate reserve could be
expressed as the difference between

(A) HR _ andHR __ .
(B) HR . and 0.6 HR
(C) HR . andHR
(D) HR . and 0.7 HR

exercise

rest

If a weight lifter of 50 kg lifts 140 kg
in clean and jerk then calculate the
relative strength of the weight lifter

(A) 2.5
(B) 2.6
C) 2.7
(D) 2.8

An individual’s capacity to perform a
motor task refers to :

(A) Motor educability
(B) Motor performance
(C) Motor fitness

(D) Motor skill

A profession should have some criteria
to be fulfilled. Some of them are :

L. Qualifications of the members
II.  Modes of communication

III. Health and personality of the
members

IV. Means of interpretation of the

profession
Among them, professional
organizations provide :
(A) L1 (B) 1L, 1II
©) 1,1V (D) 1V,1

Paper-I111

23.

24,

25.

A curriculum should be based on
L. Guided experience

II.  Placement opportunities
III. Plans for learning

IV. Methods for achieving the

objectives

V. Knowledge, skill and
understanding

Find the correct combination.

Codes :

(A) LILV,IV
(B) ILILIV,V
(C) LIULIV,V
(D) LI, 1V, I

Following are the components of
physical fitness :

Find the correct combination of the
components of health related fitness.

1. Cardiovascular endurance
II.  Body composition
III.  Speed

IV. Muscular strength and endurance
V.  Flexibility

Codes :

(A) LILIIL IV

(B) 1L LIV,

(C) LIV, LI

(D) LILIV,V

In the section of analysis and
interpretation of data, the basic steps to
be followed involve :

I.  Finding out the results

II.  Statistical analysis of data
III. Testing of hypothesis

IV. Discussion on the results

Arrange the above steps in proper
sequence from following :

(A) 1L I, 1V, I
(B) LIV, LI
(C) 1V, IIL 1L I
(D) LI LIV

J-47-13



19.

20.

21.

22.

a2l o1 & 9 & 3R H
AT BT NIqHET & 99 @ S e
HATE

(A) HR__ 3R HR

exercise

(B) HR_,_ 3R 0.6HR

exercise

(C) HR_,_ #RHR

rest

(D) HR__ 3R 0.7HR

rest

Teh HRIIeTeh 1 9T 50 fohotl & | 918 140
fhell &l AR ool 3 Teh dedleh §RT
IS & | T YR & Groe] Sifer i
UM Y
(A) 2.5
(B) 2.6
() 2.7
(D) 2.8

Tl R P I A F AT fomlt =afe
! & | g ¥

(A) TR SreToTer

(B) W FHomeT

(C) W& Fran

(D) W TETT

FTAgE h PP AFGS BF AMEd, I
AHES 39 TR &

() @& i A

(II) EU9T & b

(1) TS 1 T qAT AR

(IV) =edE & Heem & alish

T § SAEHIEE GeT §RT 5 ST €
(A) LII (B) I 1II

(C) ILIV (D) 1V,
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23.

24,

25.
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(II) T % EaE

(III) IiE= &t AT
(IV) 329 I & ek
(V) T, BT 3 FHe
TET TS S

[ I

(A) LILV,IV

(B) ILIILIV,V

(C) LILIV,V

(D) LILIV,II
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T et T2l 1 Tel TS SA1d
(I) 3T guAT eFear

(1) R ST

(IIT) T

(IV) HruieE, v Te &mar

(V) e

BT

(A) L ILIIL IV

(B) ILLIV,III

(C) LIV, I II

(D) LILIV,V

T & favetuor X Faem 1o S
AT JoT 3 &

(1) 9Romy FHepremr

(I1)  STeT 1 Gt fageryoT

(I11) ORI T TRIeToT

(IV) uRomt o ==

TfeRad o ¥ 3¢ 3fad T § o
(A) IL1, 1V, III

(B) L IV,IILII

(C) IV, IILILI

(D) ILILI, IV
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26.

27.

28.

Emotional skills to develop emotional
maturity are :

L. Self awareness

II.  Controlling impulses

III. Resisting negative influences
IV. Delaying gratification

Find the correct combination :

(A) &Il

(B) M&l

©C &IV

(D) 1&IV

Changing people’s attitude to sport is
explained by theoretical approaches of :

L. Cognitive dissonance theory
II.  Social learning theory

III.  Self-perception theory

IV. Operant conditioning theory
Find the correct combination :

(A) IM&l

(B) MI&IV

C) &IV

(D) T&III

Anxiety reduction techniques are :
L. Bio feedback

II.  Positive reinforcement

III.  Autogenic training

IV. Goal setting

Find the correct combination :

(A) V&I

B) T1&IV

(C) &Il

(D) T&III

Paper-I111

29.

30.

31.

Indicate how a group becomes a team
. Norming

II.  Forming

III. Storming

IV. Performing

Put these stages in correct sequence :
Codes :

A ILILLIV

(B) LILIV,II

(©) IV,LIL I

(D) HLIV,II,I

The process of research involves many
steps, some of which are :

L. Selection of problem

II. Review of related literature
III. Collection of data

IV. Analysis of data

The correct sequence of the above
steps should be :

(A) LILIIL IV
(B) ILILIV,I
(C) TLIV,LII
(D) IL 1,11, IV

Catching a cricket ball involves the
following phases of action :

L. Positioning oneself in right place
in the line of incoming ball

II.  Observing the flight
III. Giving
IV. Receiving the ball

Identify the correct sequence of
execution of the above phases from the
codes given below :

Codes :
(A) IL1, 1V, III
(B) L IV,ILIII
(C) 1L 11,1V
(D) ML IL 1V, I
J-47-13



26. HomcHss URUFedl fashiad w9 & fou

TATIeH ST et &
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29.

30.

31.

AT fF Tk Y9 I HY FAT € 2
() 9% gRT

(I) ETeA 51T

(III) e et

(IV) WeeH g/

T YA I WEl A § 7@
HE

(A) ILILILIV

(B) LILIV,III

(C) IV, LTI 1I

(D) LIV, 11,1

STTH Tk § =g =T 8 €, e 4
W% ;

(D) 9= 6 T

(I1) T AifeeT ot et
(II1) 3AThg T

(IV) aiteret &1 fagetuoT
ST T W ST Fand
(A) LILIIL IV

(B) ILIILIV,I

(C) LIV, II

(D) ILLIL IV

fohehe il et I TSehA % foTu TefetRad

fohamd saferd gt €

(I) ot o= & T § @& & el
T R T

(1) 54 &l G

(II1) TfemT
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i

FE

(A) IL1, 1V, III

(B) L IV,ILIII

(C) IL 1,101, IV

(D) HOLILIV,I
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32.

33.

34.

Analysis of leg action during walking
identifies following phases :

L. Swing phase

II.  Touch down

III.  Active stretching
IV. Absorption

Identify the correct sequence of
execution of the above phases from the
codes given below :

Codes :

(A) IV, 1L LII
(B) 1L IV, 11, I
(C) L1, 1IL IV
(D) LII,1V, I

Function of sartorius is :

(A) Flexion of hip and flexion of
knee

(B) Flexion of hip and extension of
knee

(C) Extension of hip and flexion of
knee

(D) Extension of hip and extension of
knee

The sequence of items to be followed
in AAHPER youth fitness test should
be

L. 50 yard

II.  Pullups

III.  Shuttle run

IV. Bent knee sit ups

V. Standing broad
VL.
Select the right sequence
(A) LIV,V,ILII, VI
(B) ILLIV,II,V,VI
©) ILILIV,LV, VI
(D) IL IV, 1L, V,I, VI

600 yard jump

Paper-I111
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35.

36.

Determine the right sequence of events
in an action potential from the order

given below :

L. Repolarisation

II.  Decreased Na* permeability
II. Increased Na* permeability
IV. Depolarisation

Codes :

(A) LILILIV

(B)
(®)

(D) I IV, 1L 1

I, 1L, 1, IV

IV, 100, I, 1

The rectangular target sizes for
Johnson Basket ball throw for accuracy
test are

L. 15" x 10"

I. 20" x10"

I 35" x 25"

IV. 40" x25"

V. 40" x 60"

Select the right combination
(A) LII I

(B)
©)

(D) LIL I, IV

I, 1V, V

L, 1V, V

J-47-13



32.

33.

34.

I9d T W H e & favemor @
frfetfiae =l ST ST e &

(1)  Srem-=)oT

() = & 3T S
(III) |ihT T
(IV) FarEavH
TfaiEd =RoT &1 58 T FiE & T 9
?l?f SIhH aﬁ@ :
S

(A) IV, I L 1I
(B) ILIV, 1,1
(C) ILILIILIV
(D) LI, 1V, I

=g 1 FE &

(A) Teu 3T gea &1 e

(B) feu &1 Hpem 3R g =il faar
(C) feu = fomaR 3R e &1 G
(D) feu 1 fowar 3R g &1 for

TUTT 0 T AR, I e 3 § 0T
ST Aot fawET S SFH R TR e
1T 2

I 50a€

(D) get-3T"

(IIl) 3ea &

(V) a= =t fae s1qg

(V) Rfenss

(VI) 600 I1S ST

el SR T

(A) LIV, V, 111, VI

(B) ILI,IV,IIL V, VI

(C) ILTLIV,LV, VI
(D) ILIV,IILV, 1, VI
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35. Trar fove o &N oot Wel "eAee e

36.

fea m wre § 4 fifa S
D) T g

(I1) =2 g8 Na* qreree
(II1) =12t &€ Na* urerege
(IV) & ¢eiiehT

wE
(A) LILILIV
(B) ILILLIV
(©)

(D)

IV, IIL I, 1

I IV, 11, I

S STEhe STeT 9 % IRl TRIeToT o
T TR (e F AT B T E 2

I 15" x 10"
) 20" x 10"
(III) 35" x 25"
(IV) 40" x 25"
(V) 40" x 60"
(A) 111,10
(B)

©)
(D)

I, 1V, V

L, 1V, V
I IL 110, TV
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37.

38.

b. Physiological 2.

Match List-I with List-II and select the
correct option using the codes given

below :

List— 1 List—11
a. Metaphysics 1. Truth
b. Epistemology 2. Reality
c. Axiology 3. Moral
d. Ethics 4. Values
Codes :

a b c d
(A) 1 2 3 4
B) 2 3 4 1
(C) 4 3 2 1
(D) 2 1 4 3

Match List-I with List-II and select the
correct option using the codes given
below :

List—1 List— 11
a. Anatomical 1. Years, months,
age days

Quality of bone

age structure
c. Chronological 3. Puberty/Secretion
age of hormones
d. Mental age 4. problem solving
Codes :
a b c d
(A) 1 2 3 4
B) 2 1 3 4
< 3 1 2 4
(D) 2 3 1 4

Paper-I111
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39.

40.

Match List-I with List-II and select the

correct option using the codes given

below :
List—1 List— 11
a. Guts Muths 1. England
b. Per Henrik 2. Sweden
Ling
c. Niels Bukh 3. Denmark
d. Archibald 4. Germany
Maclaren
Codes :
a b c d
(A) 4 2 3 1
B) 2 1 3 4
© 2 4 1 3
(D) 1 2 3 4

Match List-I with List-II and select the

correct option using the codes given

below :

List—1 List— 11
a. Combat 1. Disgust
b. Repulsion 2. Distress
c. Appeal 3. Lust
d. Sex 4. Anger
Codes :

a b c d

(A) 3 2 1 4
(B) 4 1 2 3
(C) 4 3 2 1
(D) 2 4 1 3

J-47-13



37. G-I & G-I o 91 Gafeld ST i
= f5u MU wE & TE ° G fosed
T -

=i - | =t - 1
a. THifd® 1. o
b. FERTE 2. aTEfaehar
c. gog-HmEr 3. MR
d. Hifeme 4. T
HE

a b c d
A 1 2 3 4
B 2 3 4 1
@ 4 3 2 1
M 2 1 4 3

38. GaEl-1 & G-Il &% Q1T GAfeTT HivTT X
9 fiT T BT & wEm @ T faewen
ELR

= - | =t - 1
a. WA Y 1. 99, 9, f&7
b. IR fRamemss 2. AR T
g &l
c. SHIAMSHES 3T 3. AARE/EHT
T IS
d. TFNE S 4. GEEA-GEEE
HE
a b c d
A 1 2 3 4
B 2 1 3 4
@ 3 1 2 4
M 2 3 1 4
J-47-13
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39.

40.

G-I ot GaAl-11 o G Goferd e 37X
I= GT 7T e & T ¥ G oo

T ;

=i - | =it - 11
a. g UY 1. Feie
b. W &R ferm 2. @i
c. HedIE 3. ETh
d. oTdfEiee Aol 4. STHAT
HE:

a b c d

(A) 4 2 3 1
B 2 1 3 4
©C 2 4 1 3
® 1 2 3 4
TeAL-1 I G113 G GAfeRd HitTT 3R

F KT T wE F WA G fohed
o :

= - | = - 1

a. 5% 1. gom
b. faememor 2. =
c. o 3. ofeTdr
d. g 4. e
HE

a b c d
A 3 2 1 4
B 4 1 2 3
© 4 3 2 1
M 2 4 1 3
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41.

42.

Match List-I with List-II and select the
correct option using the codes given

below :
List— 1| List— 11
a. The Vedic 1. 1000 AD-1757 AD
period
b. Early Hindu 2. 2500 BC-600 BC
period
c. Medieval 3. 600 BC-320 AD
period
d. Later Hindu 4. 320 AD-1000 AD
period
Codes :
a b c d
(A) 3 2 4 1
B) 2 3 1 4
©) 1 2 3 4
(D) 4 3 2 1

Based on Freud match List-I with
List-II and select the correct option
using the codes given below :

List -1 List - 11
a. Narcissism 1. Natural sexual
excitement

b. Auto- 2.
eroticism

Fixation of one’s
own body

Attachment of the
female child to the

c. Oedipus 3.

father
d. Elektra 4. Attachment of the

male child to the
mother

Codes :

a b c d

(A) 3 4 2 1

B) 2 3 4 1

©) 4 2 1 3

(D) 2 1 4 3
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43.

44,

Match List-I with List-II and select the
correct option using the codes given

below :
List—1 List— 11
a. Iron 1. Insulin production
b. Zinc 2. Functioning  of
nervous system
c. Sodium 3. Formation of
hemoglobin
d. Iodine 4. Proper thyroid
function
Codes :
a b c d
(A) 3 1 2 4
B) 1 2 3 4
) 4 3 2 1
(D) 2 4 3 1

Match List-I with List-II and select the
correct option using the codes given

below :
List— 1| List— 11
a. Hypoxia 1. Lack of physical
activity
b. Hypokinetic =~ 2. Excessive
jumping
c. Insomnia 3. Lack of oxygen
d. Achilles 4. Overwork
tendonitis
Codes :
a b c d
(A) 2 3 1 4
B) 3 1 4 2
(C) 4 3 2 1
(D) 3 2 1 4

J-47-13



41, g1 B G-Il & G GAfT HivTT 3T
9= T T He & wEm @ T faewen
T :

= - | =it - 11
a. dKHHE 1. 1000 TI.-1757 T2,
b. URME 2. 2500 SHT.-600 ST,
&g &t
c. W& 3. 600 .- 320 T,
d. e &g 4. 320 TEN-1000 T
HTeA
HE
a b c d
Ay 3 2 4 1
B 2 3 1 4
@ 1 2 3 4
M 4 3 2 1

42. WIS & SFER G-I H G-I F A"

AT & A 53 i & el S g

= - | =t - 11

a. ARARESH 1. RS T SaisH

b. SffEIfesm 2. 3 & WR W
feRoT

c. sfemw 3. aferent 1 fuar |
e

d. o 4. ST HT A d
e

HE

a b c d

A 3 4 2 1

B 2 3 4 1

@ 4 2 1 3

@ 2 1 4 3
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43. g1 H G-I % T Gl it T

44,

T 52 T i W W IHW G
= - | = - 1

A 1. T I
b. N 2. e d i AT
c. Wfeaw 3. fErncliia s o
d. e 4. TRRiEE H gEEq

&

H
HS:
a b c d
A 3 1 2 4
B) 1 2 3 4
@ 4 3 2 1
D 2 4 3 1
TEAT-1 Sl GA-11 % T G Hitotd 7
T 58 ®le ¥ ¥l W g |
= - | = - 1
a. FEUMRAT 1. YNNG GhaTet &
STHI
b. TEUEEACE 2. FcATH FEAT
c. TAHMAT 3. SIS 1 3T
d. uruferd 4. FrAYH B
Eaciiice)
HE:
a b c d
(A) 2 3 1 4
@) 3 1 4 2
@ 4 3 2 1
M 3 2 1 4
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45,

46.

b. Standard 2.

c. Standard 3.

d. Variability 4.

Match List-I with List-II and select the
correct option using the codes given
below :

List— 1 List— 11
a. Probability 1. An estimate of
variability of the
scores of a group

around mean
Degree of difference
between each score
and the mean

€rror

Variability of sampling
distribution of a
statistic

The chance that a
certain event will

deviation

occur
Codes :

a b c d
A1 4 3 2
B) 4 3 2 1
(C) 3 2 1 4
M2 1 4 3

Match List-I with List-II and select the
correct option using the code given

below :
List -1 List—11
a. Bas stick test 1. Flexibility
b. Burpee test 2. Cognitive
aptitude
c. Mcloy test 3. Agility
d. Bridge up test 4. Balance
5. Strength
Codes :
a b c d
(A) 4 3 5 1
(B) 3 4 2 5
©) 4 3 5 2
(D) 3 5 2 2
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47.

48.

Match List-I with List-II and select the
correct option using the codes given

below :
List—1 List—11
a. Amphetemines 1. Heart rate
b. Beta-Blockers 2. Alertness
c. Erythopoiten 3. Urine
formation

4. Haemoglobin

d. Alkaline salts 5. pH level
Codes :
a b c d
(A) 2 1 4 5
B) 2 3 4 5
©) 1 4 5 3
(D) 2 1 5 3

Match List-I with List-II and select the
correct option using the codes given
below :

List— 1 List—11
a. Anaerobic 1. Explosive
training strength
b. Aerobic training 2. Haemoglobin
count

c. Altitude training 3. Ventricular size

d. Plyometric 4.
training

Codes :

a
(A) 4
B) 1
© 2
(D) 3

Myocardial
thickness

A - N W oo
[\ N I ¢
—_— W N = O

J-47-13



45,  gei-1 Bt G-I & 1 GAfeTd HivTT 3T
= - | =t - 1
a. TS 1.99 % 9RT 3R 74
% WhIT
URETIT T ST
b. TFEH IC  2.UTF IR AR
A9 & a9 3R
EaRED |
c. U f[aged 3.9 & Uidea
foraeoT =6t aRatdan
d. UREARiT 4. 39T T fh
T TAT T
S
a b c d
(A) 1 4 3 2
B) 4 3 2 1
<o 3 2 1 4
(D) 2 1 4 3
46. G-I % G-I & T GAAT HiTT SR
I T wie H wET = W@l o
T
= - | = - 1
a. S feF T 1. =
b. df 3= 2. GIHEIH
STTRTTT
c. HEAT 3. THpA
d. Temee 4. <M
5. wIfeT
e
a b c d
A 4 3 5 1
B) 3 4 2 5
C 4 3 5 2
M 3 5 2 2
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47.

48.

Galt-1 B G-l ¥ GAferd Sifstd qen
fqT T @iT F TET WA T T IW
T

= - | = - 1
a. TFRSATA 1 .&8F T
b. dRTAEE 2. FHA
c. YR 3. U S AT
d. Tewelsd &R 4. et

5.pH &

A
a b c d
A 2 1 4 5
B 2 3 4 5
C 1 4 5 3

M 2 1 5 3

-1 S G- & e Gfeld SRE a2
T i 7 #e ¥ 9 9t 3w g
= - | = - 1
a. 3FEAfeTH 1. foomes I
TT9T&TOT
b. T URIEToT 2. EECAtE oM
c. MWW 3. dPoR THER
TT9T&TOT
d. s 4. &3F HrEusia
TTRTeToT a1 CAES
e
a b c d
Aa 4 3 2 1
B 1 4 1 2
C 2 1 4 3
M 3 4 2 1
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49,

50.

Match List-I with List-II and select the
correct option using the codes given
below :
List—1
a. The colour of the lane
ropes placed in lanes 1
and 8 in a swimming
pool
b. The colour of the lane
ropes placed in lanes
2,3, 6 and 7 in a
swimming pool
c¢. The colour of the lane
ropes placed in lanes 4
and 5 in a swimming
pool
d. The colour of the float
extending for a
distance of 5.0 metres
from each end of the

List—11
1. Blue

2. Red

3. Green

4. Yellow

pool.
Codes :

a b c d
(A) 4 3 1 2
(B) 4 3 2 1
<) 3 1 4 2
(D) 3 2 4 1

Match List-I with List-II and select the
correct option using the codes given
below :

List—1 List— 11
a. Classical theory 1. Henry Fayol
of management
b. Administrative 2. F.W. Taylor
theory
c. Human resource 3. Max Weber
theory
d. Scientific 4. Elton Mayo
management
theory
Codes :
a b c d
(A) 1 2 3 4
B) 3 1 4 2
© 2 3 1 4
(D) 4 2 3 1
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51.

52.

Match List-I with List-II and select the
correct option using the codes given
below :

List—1 List— 11
. Classical 1. Involves the
conditioning correct response
to a task being
rewarded
. Operant 2. Need to see the
conditioning whole  situation
and find a way to
respond
effectively
. Trial & error 3. Repeated stimulus
learning response
. Problem 4. Testing various
solving methods of
achieving a goal
until found one
that works
Codes :
a b c d
(A) 1 2 3 4
B) 3 1 4 2
<) 2 4 1 3
(D) 4 3 2 1

Match List-I Journal name with List-II
affiliation and select the correct option
using the codes given below :
List—1 List— 11
a. International 1. AAHPERD

Journal of sport
psychology (IJSP)

b. Journal of applied
sport psychology
(JASP)

c. Medicine and
science in sports

and exercise
(MSSE)

d. Research quarterly
for exercise and

2. ACSM

3. AAASP

4. ISSP

sport (RQES)
Codes :

a b c d
(A) 1 2 3 4
B) 2 1 4 3
(C) 4 3 2 1
(D) 3 4 1 2

J-47-13



50.

i
i
%

2.7

e
PEp
3

c. T@M g HoF 4 3T 3,80
5 7 TR TS o T
ar

d 0 & y&s% R ¥ 4.4
5.0 Y & T T et
TT FAE 1 T

HE

(A)
(B)
©
(D)
A1 Bt GAll-11 & Grer Fafera B 3T
I 3 ™ Fe F T ¥ GEl faeed
T
= - |
a. UFET H 1.
AT ST

b. WEHE fHET 2. THITIY IR

c. HFE GO 3. Heg A
fagm=

d. SR veT 4,
fagT

S

w W ks~ b o
N — W W o
A A DN =0
—_— N = N

= - 1
MR RIC]

Tee A

(A)
(B)
©)
(D)

AN W =
N W~ N o
W — B~ W o
— N B~ Ao
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51.

52.

TAl-1 S G-I & AT GHAT PN 3R

T fzw MU e @ W@ fasken 9T
= - | =it - 11

a. FAMGR | JTERR YT 6 o Ud
T Tt wfdfshar e € |

b. P v 2. 9% uRfefa it s@er
3P TSl WidfRAT I

AT @IS |

c. WA-gfc 3. aR-aR BT ST

ST

d. &1 4.18T U A
THEH o= ugfe=t =
TR0 ST e o Ter
& T 7 &1 ST |
B
a b c d
A 1 2 3 4
B) 3 1 4 2
C 2 4 1 3
D 4 3 2 1
FE-1 (ST T A) B G-Il (T) &
Ty Al ST 2R e 5w 7T wie &
TN § Wl I g
=it - | =t - 1
a. TSI A 1. TTUE W E,
HTEHIATST
(FMESTAT)
b. SH 3 TAES 2. THITH.TH.
TS TATERIATST
(S TTE)
c. fedM e W 3. TLUTEM.
T WIeq T
TSRS
(THUE T E)
d. e Ol B 4. E e U
TRRARS U Wi
(ARFZTH.)
e
a b c d
A 1 2 3 4
B) 2 1 4 3
C) 4 3 2 1
D) 3 4 1 2
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53.

54,

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Physical education is an
art and science.

Reason (R) : Performing gymnastic
activities has an aesthetic and
creative value.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right, (R) is
the correct explanation of (A).

(B) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(C) (A)isright, but (R) is wrong.

(D) (A) is wrong, but (R) is right.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Physical education is not
only limited to physical development
of the individual.

Reason (R) Maximum stress in
competitive sports is given only on
winning the competition.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right, (R) is
the correct explanation of (A).

(B) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(C) (A) isright, but (R) is wrong.

(D) (A) is wrong, but (R) is right.
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55.

56.

Given below are two statements, one
labelled as Assertion (A) and the other

labelled as Reason (R).
Assertion  (A) Growth  and
development of individual are

affected by environmental factors,
genetic factors, nutritional factors and
specific physical education program.

Reason (R) : Physical education and
sports contribute to the health of the
individual.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(B) Both (A) and (R) are right, but (R)
is the correct explanation of (A).

(C) (A)isright, but (R) is wrong.

(D) (A) is wrong, but (R) is right.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Financial management is
concerned  with  planning and
controlling of finance resources of an
organisation.

Reason (R) : Financial management is
the most significant determinant of
efficiency, credibility and success of
an organisation.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(B) (A) is right, but (R) is wrong.

(C) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(D) (A) is wrong but (R) is right.
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53. 9 31 FF KU W € U SfyeeE (A)

54,

3T gET @ (R)

Afipe (A) : WRIRE e For 3R
o & |

. SRS ThaT-Hemr
HEARE X G

I AT T |
T FHE H G § FEfatEd § 9 &
HHATI & ?

(A) 3T (R) 31 99 € 3T (R),
(A) H TE AT |

(A) 3R (R) 1 ¥ € o (R),
(A) T TE AR TR |

(A) T & fheg (R) ST T |
(A) 39T & foh (R) T € |

@ (R)

(A)

(B)

(®
(D)

T 3 FF JU W €, uEw AR (A)
3T gET @ (R)
WRIRE en waw

e & RN o
T & difd T € |

. Uiqant @il § sheel
ISR IS Tl )
ATIHAT IS STAT AT
g

TET HAT o e | EfeiEd § 9 S

HHA IS ?

(A) (A) 3R (R) AT el & 3T (R),

(A) T TE AT |

(A) 3R (R) SHI Wl & fob (R),
(A) I TEl AT T T |

(A) T € Al (R) 3T T |

AfHH (A)

@ (R)

(B)

(©)

(D) (A) 38H & ABT (R) TA T |
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55. = & o U T €, U S (A)

56.

3R 380 7 (R)

Afipe (A): = & dghg 3R
faFa  TaERe R,
FH AR ol
IR forem wrEshar o
TITe i & |

. IR e iR ge
N AT H @EF
AR BT & |

TEI FEA % G=d 4 Eteiad § 9 i

HFA I ?

(A) (A) 3R (R) IHT T &, AfBT (R),

(A) o TEl =T T € |

(A) 3R (R) IHT T &, BT (R),

(A) & TET AT T |

(A) T & AT (R) ST & |

(A) 39T & Al (R) T € |

& (R)

(B)

©)
(D)

= 3 FF U U €, ww At (A)

3R 380 T (R) €

Aafpem (A) ;. foda wees W@ &
S e faxia wat
% =0T 9 Hey W
g

. fFdr W " @
FETHAT, G qdr
e 1 e FERE
forda yeem BT € |

AT FAT % g= § FEteiad § 9 e

T T e € 2

(A) SHi(A) 3R (R) Wl & W (R),

(A) I & AT TR E |

(A) T8 & =] (R) Tord € |

Al (A) 3R (R) T & 3T (R),

(A) & TET AT T |

(A) T € T (R) WEI € |
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S57.

58.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : A balanced diet depends
on age, sex and the type of work that
one is required to carry.

Reason (R) A balanced diet is
composed of Carbohydrates,
Proteins, Fats, Vitamins, Minerals
and water.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right but (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right.
(C) (A)isright but (R) is wrong.
(D) (A) is wrong but (R) is right.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :  The  school
administration is expected to take
proper initiative for health care
management of school children.

Reason (R) : The National Education
Policy (1986) recommended to
integrate physical education and
sports in learning process of school
education.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right but (R)
is not the correct explanation of
(A).

(B) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(C) (A) is right but (R) is wrong.

(D) (A) is wrong but (R) is right.
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59.

60.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : The physical education
profession needs well qualified and
dedicated teachers who have depth
and mastery over subjects and skills
for demonstration and above all love
for the profession.

Reason (R) : Teaching profession offers
honour and rewards, provides better
financial stability and a good
retirement package.

In the context of the above two

statements, which one of the following is

correct ?

(A) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right, but (R) is
not the correct explanation of (A).

(C) (A)isright, but (R) is wrong.

(D) (A) is wrong, but (R) is right.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) Time table means
planning the day long activity, week-
long activity, monthly activity,
annual activity etc. at a fixed times
having flexibility of making need
based changes.

Reason (R) : Properly framed school
time table helps to accomplish the
objectives of the school.

In the context of the above two

statements, which one of the following is

correct ?

(A) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(B) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(C) (A)isright, but (R) is wrong.

(D) (A) is wrong, but (R) is right.
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A 31 e T T, w s (A)
3R g @ (R) T |
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e 31 e fu T €, uw s (A)

3T gET @ (R)
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(B)

©)
(D)
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59. = Tt g M €, u i (A)

60.

3R 3T % (R) € |
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61.

62.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : In class-I lever the
relation between force arm and
resistance arm can change.

Reason (R) : In class-I lever the fulcrum
remains in between points of
application of force and resistance.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are wrong.

(B) (A) is right but (R) is wrong.

(C) Both (A) and (R) are right, but (R) is
not the correct explanation of (A).

(D) Both (A) and (R) are right and

(R) is the correct explanation of

(A).

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) Degree of stability
depends on area of base.

Reason (R) : Lowering centre of gravity
increases degree of stability.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(B) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(C) (A) isright, but (R) is wrong.

(D) (A) is wrong, but (R) is right.
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63.

64.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : As the body weight
increases relative strength decreases.

Reason (R) Relative  strength
represents the ratio between an
athlete’s absolute strength and his
body weight.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(C) (A) is wrong, but (R) is right.

(D) (A) is right, but (R) is wrong.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Muscle strength and
power are both reduced once the
Athlete stops training.

Reason (R) : Skeletal muscles undergo a
substantial decrease in size, known as
atrophy, when they remain inactive.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(C) (A)is wrong, but (R) is right.

(D) (A) is right, but (R) is wrong.
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63. T 37 T KU T & | U i AR

64.
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65.

66.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : In a cardiac cycle the
diastolic phase is larger than the
systolic phase.

Reason (R) : An individual with a heart
rate of 74 beats per minute would
have a diastolic phase of .44 sec. and
systolic phase of .37 seconds.

Which one of the following is correct ?

(A) Both (A) and (R) are true and (R)

is the right explanation of (A).

(B) (A) is true but (R) is false.
(C) Both (A) and (R) are not true.
(D) (A) is true but (R) is not right

explanation of (A).

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : The pressure gradient
for oxygen across the respiratory
membrane is typically in between
100 to 105 mm Hg.

Reason (R) : The greater the pressure

gradient across the respiratory
membrane, the more rapidly oxygen
will diffuse through it.

Which one of the following statements is
correct ?

(A) Both (A) and (R) are true.

(B) (A) is true, but (R) is false.
(C) (A)is false, but (R) is true.
(D) (A) is true, but (R) is not right

explanation of (A).
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67.

68.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Standardized test is a
scientifically constructed test with
universal applicability.

Reason (R) : The scientific authenticity
of the standardized test is to be well
established.

Which one of the following statements is
correct ?

(A) Both (A) and (R) are true and (R)
is the right explanation of (A).

(B) (A) is true and (R) is not the right
explanation of (A).

(C) (A)is true, but (R) is not true.

(D) (A) is not true, but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Test and measurement
are means which are helpful in the
achievement of specified objectives.

Reason (R) : Test and measurement are
not an end in themselves.

Which one of the following statements is
correct ?

(A) Both (A) and (R) are right and (R)
is correct explanation of (A).

(B) Both (A) and (R) are not true.

(C) (A) is true, but (R) is not right
explanation of (A).

(D) (A)is true, but (R) is not true.

J-47-13



65. 3 wed f§3 o ® €, o 9 vem

66.

MR (A) 3R TE A dF (R) FHaT 1T
T

AfFT (A): TF @I Wk H

R Wy fawifas

% T AL |

TH(R) ;A A e T
74 ¥gH Uq e
3% TERIC® BT &
T 44 W IR
fodifes w9 w1 g
379 8

T AT 5 9 i 91 He TRl e 2

(A) SHi (A) 3R (R) 9 & 3 (R)

(A) Tl TE AT |
(B) (A) ¥ &, fehA (R) A ¢ |
(C) TFi(A) 3R (R) A€ |

(A) = &, W (R), (A) & T
T T ¢ |

(D)

e gt e 53 o @, 99 | vem @

ATFHT (A) 3 T H T 8T T8

afirpem (A) : Sl &1 YA

fereelt & R gae 3T

100 ¥ 105 mmHg %

Elkici

. Y9 Tereett % U A

gaTe A ST & &

SO E SERT STeRt

RIS ITF IR STt

T

T Pl o @ B AT Y e § 0

(A) THI(A) 3R (R) ¥F T |

(B) (A)TF &, W (R) AT |

(C) (A) 3T, W] (R) TAT |

(D) (A) &9 & W (R), (A) *H T
AT T € |

@ (R)

J-47-13

27

67. I T FE KT MW T UH AMIEA (A)

68.

3T gAY % (R) &l T & :

Afuma= (A) : AT TRTegoT
I w1 9 ffEa
wer 7 e

Qe TEsaar gt

T
: ﬂﬂaﬁé‘ﬁ TR
e TTEIOTeRAT S
gofwitq  wnfua fepar
ST E |
77 et O 9 I | he Tl R 2
(A) (A) &R (R) I ¥A & 3R (R),
(A) &I T8 AT T |
(A) = €, 3R (R), (A) & T&
T TR ¢ |
(A) T T, AfehT (R) T TR € |
(A) T T €, T (R) TIE |

& (R)

(B)

©)
(D)

T T T W €, T B AR

(A) 3R 3T I T (R) F&l T & :

AWHYT (A) 1 T 3R Ao eiRa
Y H Wit § Temw
A E

. QRO 3R WA 3T
AT T o & |

77 et O 9 I H He Tl 0

(A) (A) 3R (R) T W € 3R (R),

(A) &I T8 AT E |

(A) 3R (R) I W&l Fel & |

(A) @& T, 75 (R), (A) # &

T TR ¢ |

(A) Tl &, fomg (R) Tord & |

Paper-I11

& (R)

(B)
©)

(D)



69.

70.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Increased arousal has the
effect of narrowing a sportsperson’s
attention.

Reason (R) : Sportsperson who
participate in sport that require broad
attentional awareness need lower
levels of arousal for  best
performance.

In the context of two statements, Which

one of the following statements is correct ?

(A) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right but (R)
is not the correct explanation of
(A).

(C) (A) is right but (R) is wrong.

(D) (A) is wrong but (R) is right.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Selective attention is a
skill that can be learned.

Reason (R) : There is no doubt that
some sports persons are better at
selective  attention than others.
However, there is no reason to
believe that this skill can be acquired.

In the context of two statements, Which one
of the following statements is correct ?

(A) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right, but (R)
is not the correct explanation of
(A).

(C) (R)isright, but (A) is wrong.
(D) (R)is wrong, but (A) is right.
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Read the passage and answer the questions
71-75:

If you look at winning and losing
among companies, you are most likely
to find the greatest differences from
company to company and not from
market to market, or even country to
country. In some of the most difficult
country or industry environments, you
find some outstanding companies. It
therefore becomes key to explaining
winners and loosers from company to
company. Companies that win or lose
are product of their environment. They
come out of a particular labour market
and the particular talents available in
those countries and more specifically
those countries.

You could think of every context
across the globe, different cultures,
technologies and institutions as
creating different “logics”.
Entrepreneurs and even innovators in
established firms are trying to
out compete one another in those
different logics.

When you look at big
organizations such as GE, SIEMENS
or TATA group, they tried to win
through scale and scope : for example,
big efficiencies, or deploying talent in
parts of the world where talent did not
exist. The assumption was that the less
developed parts of the world would try
to catch up with the more developed
economies. That does not at all hold
true.
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There is a very important 73. Innovators outcompete one another in
question that has to be asked : Can we the form of different logics :
identify leadership ? I do not mean to (A) Culture
identify those whom we see have

already been successful. Leaders are (B)  Technologies
not those who think they know the (C)  Institutions

answer ; they are those who know how (D) All the above
to build systems and those who
discover the answer. Unfortunately,

when we get our first job or promotion,

we get those promotion because of 74. Big organisations try to win through :
what we know, or our functional L Scale
ability, but that knowledge is limited II.  Talent
for growing an organization and
L III.  Scope

leading it on the path of success. HR
managers need to find those who, IV. Economy
among their work-force are scalable. A Find the correct combination :
scalable manager can understand that (A) 1&11
their job is to create an environment

oy . (B) T&II
within which those who report to them
can prosper, take risks, innovate, feel €) I&IV
confident and improve. (D) HI&1V

71. Greatest difference in winners and
losers lies :

(A) Market to Market

75. In the context of companies, win or
loss are the product of :

(B) Country to Country L Talent
(C) Company to Company II.  Technologies
(D) Culture to Culture II. Market

IV. Environment

72. Those are not the great leaders in Find the correct combination -

human resource who :

A) 1&II
(A) know the answer )
B) &Il
(B) know to discover the answer ®)
C) M&IV
(C) know to build the system ©
(D) 1&IV

(D) are scalable
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